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y = 0.027x + −43.804

y = 0.03x + −49.624

y = 0.019x + −28.749
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y = 0.027x + −40.016

y = 0.029x + −45.631

y = 0.019x + −24.928
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Average Temperature: mri_cgcm2_3_2a.sres.run1.tas
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y = 0.022x + −30.027

y = 0.028x + −42.525

y = 0.016x + −17.828
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y = 0.028x + −46.835

y = 0.015x + −20.751
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Average Temperature: csiro_mk3_0.sres.run1.tas
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y = 0.025x + −40.656

y = 0.033x + −56.899

y = 0.019x + −27.188
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y = 0.025x + −36.673

y = 0.033x + −52.871

y = 0.018x + −23.145
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y = 0.031x + −47.233

y = 0.04x + −66.906
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y = 0.033x + −58.774

y = 0.043x + −79.866

y = 0.016x + −24.442

●

●

●

A2
A1B
B1

●

●
●

●

●

●

●●
●

●

●

●
●
●●

●
●

●●●
●●

●

●
●

●
●
●
●

●

●●
●●

●
●

●

●
●●●

●
●

●

●
●
●●

●

●
●

●
●

●●
●

●

●
●

●

●●
●
●

●●
●●●●

●●

●

●●

●

●

●

●

●●●

●

●
●●

●●
●

●
●

●
●
●●

●

●

●

●●

2000 2020 2040 2060 2080 2100

5
10

15
20

Year

A
ve

ra
ge

 T
em

pe
ra

tu
re

 (
*C

)

●
●●

●

●●

●
●

●

●

●

●

●

●●●●
●●

●●

●

●●●
●

●
●

●

●
●

●

●

●

●

●●●
●●

●●●

●

●

●

●

●

●

●●
●●

●●●●●
●

●

●

●
●
●

●

●
●

●

●

●
●
●
●
●●

●

●

●
●

●

●
●

●
●

●

●
●

●●

●●

●
●●

●
●
●
●●●

●

●
●
●

●

●●

●

●

●
●

●
●

●●
●●

●

●

●

●●●●
●●

●
●

●

●

●
●

●
●

●●

●●

●
●
●

●

●●
●●

●
●

●

●
●●

●
●
●

●
●●●●

●

●

●
●●●●●

●●

●

●
●
●
●

●●
●●

●●●
●
●

●

●
●

●●●

●●●
●

●
●●

●
●
●

Tehachapi_High_M2M

y = 0.03x + −50.453

y = 0.04x + −71.025

y = 0.014x + −17.251

●

●

●

A2
A1B
B1

●

●
●

●

●

●

●●
●

●

●

●
●
●●

●
●

●●●

●●

●

●
●

●
●
●
●
●

●●
●●

●
●

●

●
●●●

●
●

●

●
●
●●

●

●
●

●
●

●●
●

●

●

●

●

●●
●
●

●●
●●●●

●●

●

●●

●

●

●

●

●●●

●

●
●●

●●
●

●

●

●
●
●●

●

●

●

●●

2000 2020 2040 2060 2080 2100

5
10

15
20

Year

A
ve

ra
ge

 T
em

pe
ra

tu
re

 (
*C

)

●
●●

●

●●

●
●

●

●

●

●

●

●●●●
●●

●●

●

●●●
●

●
●

●

●
●

●

●

●

●

●●●
●●

●●●

●

●

●

●

●

●

●
●
●●

●●●●●
●

●

●

●
●
●

●

●
●

●

●

●
●
●
●
●●

●

●

●
●

●

●
●

●
●

●

●
●

●
●

●●

●
●●

●
●
●
●●●

●

●

●
●

●

●●

●

●

●
●

●
●

●●
●●

●

●

●

●●●●
●●

●
●

●

●

●
●

●

●

●●

●●

●●
●

●

●●
●●

●
●

●

●
●●

●
●
●

●
●●

●●

●

●

●
●●●●●

●●

●

●
●
●
●

●●
●●

●●●
●●

●

●
●

●●●

●●●
●

●
●●

●
●
●

Tehachapi_Low_M2M

y = 0.03x + −46.075

y = 0.04x + −66.396

y = 0.014x + −13.266

●

●

●

A2
A1B
B1

Average Temperature: cnrm_cm3.sres.run1.tas
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y = 0.043x + −73.004

y = 0.018x + −20.714
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Average Temperature: cccma_cgcm3_1.sres.run1.tas
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y = 0.045x + −83.61

y = 0.047x + −87.9

y = 0.033x + −58.901
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Tehachapi_High_M2M

y = 0.043x + −76.918

y = 0.045x + −79.889

y = 0.031x + −53.118
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y = 0.043x + −72.723

y = 0.044x + −75.945

y = 0.031x + −49.214
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Average Temperature: mpi_echam5.sres.run3.tas
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SJER_M2M

y = 0.028x + −41.156

y = 0.046x + −78.771

y = 0.014x + −12.501
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y = 0.029x + −50.95

y = 0.048x + −89.363

y = 0.014x + −19.914
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y = 0.026x + −41.619

y = 0.043x + −76.189

y = 0.012x + −13.561
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y = 0.026x + −37.581

y = 0.043x + −71.877

y = 0.012x + −9.839
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Average Temperature: ncar_ccsm3_0.sres.run1.tas
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y = 0.044x + −73.879

y = 0.049x + −83.591

y = 0.021x + −28.053
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y = 0.046x + −85.642

y = 0.052x + −97.616

y = 0.022x + −37.575
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Tehachapi_High_M2M

y = 0.042x + −73.746

y = 0.047x + −85.247

y = 0.02x + −29.596
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Tehachapi_Low_M2M

y = 0.042x + −69.585

y = 0.047x + −81.085

y = 0.02x + −25.889
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Average Temperature: gfdl_cm2_0.sres.run1.tas
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y = 0.042x + −70.345

y = 0.05x + −86.088

y = 0.032x + −49.356
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y = 0.044x + −80.722

y = 0.051x + −96.352

y = 0.033x + −58.294
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y = 0.04x + −69.102

y = 0.048x + −85.295

y = 0.03x + −49.355
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y = 0.039x + −64.906

y = 0.047x + −81.105
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Average Temperature: ipsl_cm4.sres.run1.tas
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y = 0.046x + −77.218

y = 0.051x + −88.077

y = 0.035x + −55.182
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y = 0.043x + −76.801

y = 0.049x + −88.691

y = 0.031x + −51.978
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y = 0.043x + −73.027

y = 0.049x + −84.842

y = 0.031x + −48.269
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Average Temperature: ukmo_hadcm3.sres.run1.tas
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y = 0.001x + −0.308
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y = 0x + 0.151
y = 0.002x + −2.382
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Average Precipitation: ipsl_cm4.sres.run1.pr
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y = −0.001x + 3.146
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y = −0.001x + 3.486

A2 Mean
A2 CI, α = 0.05

A2 Average Precipitation: GCMs

Ensemble GCMs Used:
gfdl_cm2_0_sresA2_run1_pr
gfdl_cm2_1_sresA2_run1_pr
csiro_mk3_0_A2_pr
csiro_mk3_5_A2_pr
cccma_cgcm3_1_sresA2_run1_pr

ipsl_cm4_sresA2_run1_pr
miroc3_2_medres_sresA2_run1_pr
mri_cgcm2_3_2a_sresA2_run1_pr

bccr_bcm2_0_sresA2_run1_pr
ncar_ccsm3_0_sresA2_run1_pr
ukmo_hadcm3_sresA2_run1_pr
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y = 0x + 0.826
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y = 0x + 1.594

A1B Mean
A1B CI, α = 0.05

A1B Average Precipitation: GCMs

Ensemble GCMs Used:
gfdl_cm2_0_sresA1B_run1_pr
gfdl_cm2_1_sresA1B_run1_pr
csiro_mk3_0_A1B_pr
csiro_mk3_5_A1B_pr
cccma_cgcm3_1_sresA1B_run1_pr

ipsl_cm4_sresA1B_run1_pr
miroc3_2_medres_sresA1B_run1_pr
mri_cgcm2_3_2a_sresA1B_run1_pr

bccr_bcm2_0_sresA1B_run1_pr
ncar_ccsm3_0_sresA1B_run1_pr
ukmo_hadcm3_sresA1B_run1_pr
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y = −0.001x + 2.321
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B1 Mean
B1 CI, α = 0.05

B1 Average Precipitation: GCMs

Ensemble GCMs Used:
gfdl_cm2_0_sresB1_run1_pr
gfdl_cm2_1_sresB1_run1_pr
csiro_mk3_0_B1_pr
csiro_mk3_5_B1_pr
cccma_cgcm3_1_sresB1_run1_pr

ipsl_cm4_sresB1_run1_pr
miroc3_2_medres_sresB1_run1_pr
mri_cgcm2_3_2a_sresB1_run1_pr

bccr_bcm2_0_sres_run1_pr
ncar_ccsm3_0_sresB1_run1_pr
ukmo_hadcm3_sresB1_run1_pr
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